FCI-ASST-GRADE

Il PAPER-1

PART - a : GENERAL INTELLIGENCE

Directions : In questions no. 1 in 5, select the relnted
word { number from the given alternatives,
7

1. MAHESH ;. 154362 - : SHAME

(A} 63211 (B} 65213
€2y 62513 iy 62351
2. Stars : Blood cells : : Telescope : 7
{A) Lens (B) Blood
{C) Camera (D} Microscope
3. Scale : Length : : Seismograph : 7
(A) Temperature (B) Earthquake
{C) Blood pressure (D) Humidity
4. ? : Percussion : : Veena : String
(A) Tabla {B} Harmonium
(C) Violin {D) Sitar
5. Ornithologist : Bird : : Archaeologist : ¥
{A) Arbiter
(B) Aguatic
(C) Artifact
(D}  Archipelago

Directions : In questions no. 6 to 12, find the odd’|
word [number from the given alternatives.

6. (A) Mobile phone (B} Laptop
(C} iPod (D) Wall clock
7. (A) Cotton {(B) Seed
(Cy Thread (N Clnth
B. {4} Moercury {R) FEarth
{Cy  Jupiter (D) Uranus
9. {A) Coppet (B} Diamond
{Cy  Silver (D) Lead
10. {A) Dam (B} River
(C) Stream (D) Spring
11. ({A) Lioness (B} Bitch
(Cy Mare (D) Stag
12. (A) 81 (B) 36
(C) 135 (D) 128

13. If numbers starting with 950 are Airtel
numbers, how many Airtel numbers are there
in the below seriea 7

4944340 9550125 953074 950435 951095
952135 95225 040444 940415 950799
951025 950723 950655 950677 953085
(A} 4 (B) 5
(Cy 6 Dy 7

Directions : In guestions no. 14 in 1;8. select the
missing riumber from the given responses.

”])‘_/’ 5 5 5
3 ? 3
6 5 8
3 5 4
(A) 1 (BY 3
(Cy 2 (D) 4
15. ©3 (49) 04
04 (B1}) 06
07T (7)) 04
{Ay 65 (B) 79
(C) 101 (D) 121
16~ 101 15 48 : 184
38 ?
35 : 43 b6 : 34
(A) 198 (B) 158
(cy 127 (D) 142
17. 289 w121
7 169
(A) 144 (B) 100
(C) 81 AB) 225
18. 2-6-8; 4-12-16; 6-18-24; 7-7-32
(A) 4, 28 +B) 8, 24
(C) 14, 18 (D) 16, 16

Directions : In questions no. 19 to 20, find the one
that does not belong to the group.

19. 1, 8, 27, 64, 127, 216
(A) 27 (B) 127
(Cy 218 (D) 64
76, 79, 72, B0, 69, 83, 66
(A) 69 (B) 72
{Cy 79 (D) 83
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Directions :

In questions no. 21 to 24, find the

missing term of the series.

21.

22,

27.

CIG, FLJ, 10M, 7

(A) PSU (B) QUB

(C) LRP Dy JLG

BFG, HI.M, NRS, ?

(A) TYZ 4BT TXY

(C) TWwWX (D) RVW

1. 74, 24 2. 78, 20

3. 8216 4. _?_. 12
(A) 90 (3 88

(C) B6 (D: 84

1. X78 2. To2

3. Pl10o6 4. ?

(A} M120 (B) L118

AC) L1120 (DY Ki20
Arrange the following in order :

1. Golden Jubilee

2.  Silver Jubilee

3. Anniversary

4. Diamond Jubilee

5. Centenary Celehration

Ay 3, 1,2 4.0 By 3,2 1,45
icy 2, 1,3, 4,5 Dy 2,3 4,5, 1
Which one of the given responses would be a
meaningful order of the following ?

1. Call letter

2.  Application

3.  Advertisement

4, Interview

5. Appointment order

(A} 3,1,2,5,4 (B) 3,2, 1,4,56
iCy 2,1,38,4,6 (D) 5,438,211
Arrange the following in correct order :
1.  Taluk 2. State

3. Street 4. Village

5.  District

(A) 1,2,5,4,3 (B) 3,4,5,1,2
(C) 3,2,41,5 (D) 38,4,1,5,2

30.

31.

Which one set of letters when sequentially
placed at the gaps in the given letter series
shall complete it ?

pqr_ _rs_rs__s_q._

sqppqpr

{A) (B) sqprrqr
(C) spgpprr (D) pqrrppg
Six children A, B, C, D, E and F are

standing in a row. B is between F and D. E
is between A and C. A does not stand next to
either F or D. C does not stand next to D, F
is between which of the following pairs of
children ?

(A) Band D By Band A

(C) Band E D) Band C

In the following question, there is an address
which has been reproduced against (A), (B),
{(C) and (D)}, three of which have some
mistake or the other. Choose the one without
any mistake.

Sristidhar Kashyap
Sfo Supravakar Kashyap
Near Nalla Beach, 11-Kalapet
Puducherry — 605014
L [A) Srigtidhar Kashyp
S/o Supravakar Kashyp
Near Nalla Beach, 11-Kalpet
Puducherry - 605014
Sristidhar Kashyp
S/0 Supravakar Kashyp
Near Nall Baech, 11-Kalapet
Puducherry — 605014
Sristidhar Kashyap
S/o Supravakar Kasyap
Near Nalla Beach, 11-Kalapet
Puducherry — 605014
_P7 Sristidhar Kashyap
S/o Supravaker Kashyap
Near Nalla Beach, 11-Kalapet
Puducherry - 605014

From the given alternative words, select the
word which cannot be formed using the
letters of the given word.

1 (B)

(C)

CORRESPONDENT
(A) RESPOND (B) PRESENT
A€) CORRECT (D) POND
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32.

33.

34.

35.

36.

a7.

In the following series, how many P, D, R
occur in such a way that D is followed both by
P and R on any one side (in reverse way also) ?

RGPKDRPDXRDP
XGDRPKDPRXGK
(A} 1 (B) 2
(C) 3 /ﬂ)]' 4
In a certain code, the following alphabets are
coded in & certain way by assigning numbers.

A B CDEVFGH

1 3 5 2 6 8B 4 7
Which number can be coded for FEDCG ?
tAY  BBLH24 (B) BB245
(Cr 86452 AD) 86254
IT5x6 =42 2x8 =27 4 x9 =50, then
Tx0=
{A) 0 (B) 7
e 8 (D) 15
In certain code, P is #, Ais %, Cis  and E
is @ How is PEACE written in that code ?
JA) %#@% _AB) #@%6@
(C) #@%@# _L‘(D} #@#0@
In a certain code, the following alphabets are
coded in a certain way by assigning numbers
as follows :

ADILMNORW
1 2 8 46 6 7T 8 8

Which word c¢an be decoded from the
following 7

163514 97842

J(A) WORLD OF ANIMALS

(B) IMALS WORLD

ANIMAL WORLD

(D) ANIMAL LESS WORLD

The elephant population in Karnataka is

increasing year after year. Find out the

clephant population in 2006 from the
following information :
2001 | 2002 | 2003 | 2004 | 2005 | 2006
2
HEAICIRE
(A) 192 (B) 190
(C) 180 (D) 185

38. Mr. Sen is a hardworking labourer. He earns

T 200 per day. On an average, he spends
T 75 for food, ¥ 10 for dress, T 50 for loan
repayments, T 10 for social service and T 30
for other activities. The balance amount he
deposits in his bank account, If he takes
5 days' leave in January, what will be his
bank balance for the month ?

(A) T 775 By T 850

(C) T 750 (I T 625

If EARTH is coded as SUBDZ, then TEAR
and'HER are coded as

(A) DSUB, ZUB R} DUBS, BU?

(C) DSUB, BSZ 4 DSUB, 758

Directions : In questions no. 40 and 41, a statement
is given followed by tweo conclusions. You have to
consider the statement to be frue, even if it seems to
be at vartance from commonly known facts. You have
to decide which of the given conclusions, if any,
follows from the given statement.

40,

41,

Statement - Suofety lockers are the best place

to preserve valuables.
Conclusions :
I. Valuablea are not safe at any place.
II. There are few places better than safety
lockers to preserve valuables.
Only conclusion I follows
Only conclusion I1 follows
Both conclusions I and II follow
Neither conclusion I nor II follows

(A)
B)
()
(D)

Statement: Of all _the TV sets

manufactured in India, ‘Solar'
brand has the largest sale.

Conclusions :

1 Volume of sales of all brands of T.V. sets
manufactured is known.

II. The production of no other T.V. set is as

large as that of 'Solar.

Only conclusion 1 follows

Only conclusion II follows

Both conclusions T and 11 follow

Neither conclusion I nor II follows

(A)
(B)
(&)
(D)
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42,

43.

44,

43,

Complete the missing portion selecting from
the alternatives given,
Question figure :

/s

Answer figures ;-
-

(A) (B) () (D)
Given below are the different positions of a
dice. What shall come in the place of X' 7

(A) 2 (B) 1
(cy 3 (D) 5
The diagram below represents the students
who study Physics, Chemistry and
Mathematics.
Chermistry
Physics ’A

Mathematics

Study the diagram and identify the region
which represents students who study both
Physics and Chemiglry but not Mathematics,

(A} R+T+A+U+P+S (B} T
(1) T+5+U+P (D) C
Which one of the following fligures represents
the relationship among Politicians,

Contractors and Candles ?

O (0o (9o
1 2 3 4 5

(B 3

1

iAY 4
iy 2

48.

47.

48.

Which answer figure will complete the

pattern in the question figure 7

Question figure :

Answer figures !

A | A

ég AN
o3

{A) (B} (C) (D)
From the given anawer [ligures, select the
one in whi¢ch the question figure is
hidden/embedded.

Guestion figure ;
Answer flgures 7
L A &
o Fsol|| %8 @ﬁ)
©
¥ w7 @ *@"
(A) (B) {C) (D)

A piece of paper is folded and cut as shown
below in the guestion figures. From the
given answer figures, indicate how it will

appear when opened.

Question figures :

Answer figures :

(A)

o

(B) (C} (D)
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49, Find out the mirror image of the quesl‘.:-:m
figure given belnw
Question figure :

Answer figures :

(A) (1) (ci (D3

50. A word is represented by only one set of
numhers as given in any onc of the
alternatives, The sets of numbers given in the
alternatives mre represented by two classes of
alphabets as in two matrices given below. The
columns and rows of Matrix [ are numbered
from O to 4 and that of Matrix II are numbered
from 5 to 9. A letter from these malrices can
be represented first by its row and next by ifs
column, e.g., G can be represented by 02, 14,
etc., and P can be represented by 66, 78, et
Similarly, you have to identify the sct for the

word LINE,

MATRIX I MATRIX 11

0(1|2|3|4 5|6|7|8|9
O|E|F|G|H|I 5|LIM|N|Q|P
1/ H|I|E|F|G 6|O|P|L{MI|N
2|F|G|H|I]|E TIMN|O|P|L
3|I1|E|F|G|H B|P|L M|N|O
4|G|H|I|E|F g|N|O|P|L|M

(A} 86, 31,69, 42 (B} 86, 11, 68, 42
(C) 86, 11, 69, 43 (D) 86, 11, 69, 40

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

Directions : In questions no. 42 and 43, a series is
given, with one term missing. Choose the correct
alternative from the given ones that will complete the
REFLCS.

42. 89,698, 55 *?

(A) 58 (B) 56
(C) 98 (D) 99

45‘

BF,JNRVZDHL ?
(A) M (B) O
(C) P (D) T

Rama, a friend of Krishna, came to meet him
every Sunday. The first time he camc at
1230 pm, next time at 1.20 pm, then at
2.30 pm and then at 4 pm. When did Rama
turn up Lo see Krishna, the time after that ?

(A} 5.20 pm (B} 5.30 pm’
(C} 6.20 pm (D 550 pm

Find the odd number from the given
alternatives.

(A) 1486 (By 278
(C) 321 (m 789

Directions : In questions no. 46 to 48, select the
missing number from the given responses.

48.

47.

48,

65|10 7 |30 13 | 27
8 (120 6 |222 4
(A} 126 (B) 132
(C) 147 (D) 160
42, 79, 153, ? , 597

(A) 300 (B) 301
(C) 305 (D) 303
77, 49, 36, 18, ?

(A) 7 (B &

(C) 9 (D) 3

If BHASHA is written is 154754 and BRAIN
is written as 13408, then AHINSA is written
as

(A) 458074 (B)y 405847
(C) 450847 D} 450874
If HEUJ is written as FISH in a code

language, how can UVCD be written in the
same code ?

(A) STAR (B) STAK
(C) STAL (D) STAB
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51.

b2.

od.

a5,

58,

Firms under perfectly competitive markets
generally are

(A}
(B
(C)
(D)

Select the odd one in the following :

{A)
(B)
(Cl
(D}

National Income is

(A

(B)
(C)
(D)

Which statement is true ?

(A)
_4B)

(C)

(D)

India has adopted
systern to bring about a socialistic pattern of
gocicty,

(A)
{B)
{C)
()

Local povernments are the basis of

(A)
(B)
(C)
(D)

PART - b : GENERAL AWARENESS

Price makers
Price givers
Price takera

Price fixers

Petroleum
Coal
Fuel wood »

Electricity

Net Mational Product — Indirect Taxes +
Subsidies

Gross National Product — Direct Taxes
Gross Domestic Product — Impurts

Net Domestic Product + Exports

Money is a good servant

Money is a good servant but a bad
master

Money i a good master but & had
servant

Money iz a good master and a good
servant

ag its economic

Socialism

Mixed Economy
Capitalism
Political Economy

Aristocracy
Seculariam
Democracy

Reservation

57.

58.

0d.

80,

81.

The final interpreter of the

Constitution is
(A)
(B)
(C)
(D)

Central Cabinet
President

High Court
Supreme Court

One of the following laws favours women's

interests :
(A)
{B}
(C}
(D3

Equal Remuncration Act
Protection of Civil Rights Acl
Immoral Traffic {Prevention) Act

None of the above

One of the following was once an associate
State of the Union of India and later became

a full fledged State :
(A) Jharkhand

{B} Chhattisgarh

¢C7 Arunachal Pradesh
(D) Sikkim

President of India can be impeached by
(A} Specially constituted Tribunal
Supreme Court
Central Cabinet

Parliament

Who among the following was the leader of

Cabinet Migasion 7
(A}
(B)
(C)
(D)

Stafford Cripps
Linlithgow

A.V. Alexander

Sir Pethick Lawrence
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62.

6.1,

6.

In which one of the following battles did
Nadir Shah defear the Mughal Emperor
Mohammad Shah ?

(A} Delhi Karnal

()

{R)

Panipat. (D} Kanpur

Mahahnshye was written by
(B)
A Patanjali

T Manu

(]

Garg
Bana
The =ong ‘Jana-Gana-Mana' composed by

Rabindra Nath Tagore was first published in
January 1912 under the title of

(A) Rashtra Jagrati
{B) Tatva Bodhini
(C) Bharat Vidhata
(D)

None of the above

Sher Shah died while fighting in
(A)
(B)
(C)
(D)

Chausa
Kalinga
Kalinjar

None of theseo

Biosphere reserves are meant Lo

(A)  Preserve wild land lora and fauna

(B) Experiment and develop forest products

() Experiment and develop agriculture
products

(Dr  All the above

Days and nights are caused because of

{A) shape of Earth's orbit
(B) revolution movement

(C) rotational movement

(D) None of the above

69.

70.

71.

2.

73.

74,

Chennai gels less rain than other places
from the South-West monsoons because

{A) The monsoon runs  parallel  to
Coromande] ecoast

{133 Chennai is oo hot to allow moisture Lo
condense

(C) They are off-shore winds

(D) All the above

The elimate of India is )

{A)  Equatorial (B} Monsoonal

(C) Mediterrancan (I} Contincntal

Laterite aoiis are found in

{A) heavy rainfall region

(B} desert region

{C} tropical region

(D} tropical region with wet and dry climate

Photosynthesis tukes place in

tA)}  Roots of the plants

{I3)  Green parts of the plants

(C) Stems of the plants

(D) All parts of the plant
Universal Blood Donor is

(A} A group (B) B group
(C) AB group (D) O group

Alcoholic fermentation is brought by

(A) Mushrooms

(B) Amoeba

(C) Virus

(D) Yeast

Birde and bats are good fliers. The bat
differs from bird in having

(A)
(B)
(C)
(D)

Four chambered heart
Diaphragm

Wings

Small brain
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75.

T8.

7.

78.

79.

8.

Hl.

(:KC]

‘Tube within a tube’ type of body plan is
found in

(A)
(B)
(C)
(D)

Sea anemone
Leech
Amoeba
Sycon

The portion of a plant that is grafted on to
the other plant is called
(A) Stock (B)
(C)y Stalk (D)

Scion
Sucker
White
colours ?

(A) 4
iy 6

light is a mixture of how many

By 5
7

Surface tension arises due to
A}
(3
(C)
(I3

adhesive force between molecules
cohesive foree between molecules
gravitational force between molecules
electrieal force betwoeen molecules

A particle covers egqual distance around a

circular path in equal interval of time. It has
uniform

(A
()

(B}
i

Speed
Momentam

Velovity

Acceleralion
Which of the following will always preduce a
diminished image of an object placed before
it ?
{A)
(B}
1Ch
1Dy

Plane mirror
Convex mirror
Convex lens

Concave mirrar

The term 1’0 means

{A)
B

Private Computer
Personal Calculator
Personal Computer

D) Professional Computer

BZ.

83.

B4.

B5.

B87.

A translator for the high-leve] language

program into machine code is

( ﬁé"'ﬁsmm bler (B}
(C) Loader (I

Compiler

Linker

Atomic nuclei are composed of

(A} Protons and electrons
{B) Protons and isotrons
(C) Electmns and neutrons

/D} Protons and neutrons

Which allotrope of carbon is used both as o
lubricant and as lead in peneils ¥

(A) (B}
(C) - 1)

Coal
Graphite

Diamond

Charenal

Example of aerozol is
Ay Milk
(Cy Smoke

River water

Blood

(B
(m

A process that is almost the reverse of
photosynthesis is the

(A)
(B)
(C)
(D)

digestion of starch
melting of iron
ripening of fruit
burning of wood

Ozone hole was discovered over Antarctica in

(A) 1975 1By 1485
(C) 1978 Ty 14987

Yusho disease, discovercd in Japan, is

related with pollution due to

(A) PCB (B}
(C) Acid Rain t

Cadmium

PAN

The Pyramid of Biomass is inverted in which
ecosystem ?

{A) Pond
(C) Grassland

1B}
im

Forest
Mangrove
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